Direction : Question No. 1 to 4

Marks obtained by five students M, N, P, Q
and R in English and Maths are shown in the given
bar graph. Read the graph and answer the questions
from 1 to 4.
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Students (8™)

1 Which student has scored the highest average
marks in English and Maths?

2 Y et ¥ stieh ofk it 7 srftreas siwa
3w fpu ? :

(A) N (B) P

(C) M (D) R

(E) Question not attempted / aﬂ?rﬂ‘cr 97

2 How mény students have got more than 40

marks in Maths?
(A) Two (B) Four
(C) Three (D) One

(E) Question not attempted
fopam faenfiial 3 wfra A 40 it § aifus ofw

a1 e ?

A) = (B) 1R
(C) = D) w
(E) orgaRd ue
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For which student the ratio of the
obtained in Maths and English {5 ths
maximum?

mﬁmﬁmnﬁmmmﬁfmwm;
o 7 |
(A) R (B) N
© Q D) M

(E) Question not attempted / TR g

Total marks obtained in English by all the
students is - '

ol el g offeh # T e i § -
(A) 195 (B) 200
(C) 205 (D) 190

(E) Question not attempted / ST ¥

P & § B w1 95 < SuE Y T a0E 2
(A) R+ 3T + B = TGIHR
(B) €H + 37 + I = AT
(C) &fq + o + A = ™R
(D) R +9a="Tda
(E) orgaia ued
Fill in the correct article/ determiner in the
sentences of List I, selectmg from List II.
List I List 11
a. Hariknew ___ man . a
who was killed yesterday.
b. Srilankais_____ island. II. the
c. My mother teaches in III. the
__ college. _ '
d. Januaryis ___ first IV. an
month of the year,
Choose the correct answer from the options
given below :
(A) a-l, b-Il, c-1V, d-111
(B) a-lll, b-II, ¢-I, d-1V
(C) a-1V, b-II, c-II1, d-I
(D) a-ll, b-1V, c-1, d-1II
(E)  Question not attempted
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Arrange the following Chief Ministers of

Rajasthan in chronological order:

Bhairon Singh Shekhawat

Vasundhara Raje

Jai Narayan Vyas

Haridev Joshi

Heera Lal Shastri

ﬁ‘?ﬁ'ﬁhﬁ ngﬁ & JEgHTNET B BABHATER

ERURES s‘r@aa

IEERT IS

s

R S

BT Tt

Choose the correct answer from the options

given below:

T g g fyegdl & & @@ SR @1 Tgw At

(A) 5,3,4, 082 B) 3,4;5,1,2

© 5,4,3, :T:}z D) 3,5,4,2,1

(E) Question-not attempted / STANT wed
=3

In a domesti®’ circuit all appliances are

connected in =

(A) Series

(B) Ifcurrent through the circuit is high they

are conpected in parallel and if current

is low they are connected in series

If currefitithrough the circuit is high they

are confiécted in series and if current is

low thegare connected in parallel

(D) Paralle

(E) Questiqn;not attempted

T Tl uRwy T T gl @Y SireT S € -

(A) gorsmad

(B) dfg uftgag & oy &1 99 oifts & af 9%

AL hd F SAIST 97T & s afk e g @

oy a—rqé? et T ¥

afy uﬁq,a; ¥ 4RI B 9 3w T A S

grofy mj SrgT ST € ofiT afk &9 &

TR ﬁr A SIS AT B

(D) =i %3 "

(BE) orgafa ysw

il =

©

©
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?/ Match List I with List IT:

10

- (E)

List 11

List I
[ LimbaRam

a. ‘Dronacharya’ of
Rajasthan

b. “Waterman’ of [I. Karan Singh

Rajasthan )
[II. Gokulbhal

c. ‘Arjun’ of
\O pDaulatram Bhatt

Rajasthan et )
d. ‘Gandhi’ of IV, Rajendra Singh
Rajasthan (ﬂ
gt [ % & g 1L & fiqma I
Tl -cm;;h 1|
a. ToRgE &7 ‘domerd’ L e T
b. TN & AT Il HRORE
0
c. TorgE & ‘e JIL TGS
AR TR R

ag’
R o e 51 gv TorRfRiE

Choose the correct answeét from the options
given below: A

R g 1o faemedl & @ 92 SO &1 999 HINTT:

(A) a-l b-TV, c-1, d-III

(B) a-IL b-IV, c-III, d-i‘g

(C) a-IIL, b-, c-IV, d-Ig‘;

©) aL bV, ¢IIL 41> _

(E) Question not atter;‘;:ﬁted [ Saia v
S

Complete the sentence by choosing the most
appropriate option from those given below the

sentence. Vo)
He finished first (Nhe began Iate.
(A) but (B)y since

(C) because

(Ig though

Question not attempted
<
"[RT.O.
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Choose the correct sequence of steps in carbon
cyele from the statements given below starting
from its gaseous source.

Organic carbon in plants

Inorganic carbon in soil

CO, in atmosphere

Organic carbon in animals

[V S e

Bacterial decomposition of organic
matter

A Ry U HuRi B wEE w6 6 g T wT H
sqafaa @i, frad e w1/

e F G HEA

T 3T HEHA

rgusa § CO,

Typelt § Sq @

S wardl 1 Sanel SR ferRs

Choose the correct sequence from the options
given below:

H3 i Tu Ryeed § | T8 BT BT TET DI
(A) 3,4,1,5,2 B) 3,1,4,5,2
© 3815235 (D) 1,3,4,5,2
(E) Question not attempted / S GRIRG AR

T R S R

wh

Given below is a sentence in Active voice.

Select the best option to change it into Passive

voice.

Some boys were helping the wounded man.

1.  The wounded man was helped by some
boys.

[S]

The wounded man was being helped by
some boys.

W)

The wounded man was been helped by
some boy.

4. The wounded man had been helped by
some boys.

Choose the most appropriate answer from the

options given below :

(A) 2only (B) 1 only

(C) 4only (D) 3and | only

(E) Question not attempted

‘!’3, Now-a-days, e-book readers are very popula,

as they are convenient, light and comfortab]e
for the eyes. Particular ink used for them is ..

(A) QRink (B) MICR ink

(C) e-ink (D) Magnetic ink
(E) Question not attempted
Wé—gﬁﬁﬁe@am%mﬂ%ﬁmﬁ
W%ﬁﬁaﬁwﬁ@‘t%mgﬁrw%lw
v @ T fasta g (RE) FAWE?

(A) T WE

(B) wA.omE.A.GMR. W&

) =

(D) gD W

(E) ergana ue

Which of the following is a contactless
protocol?

(A) HTTP (B) UDP

(C) TP (D) TCP

(E) - Question not attempted
frferfiad ¥ ¥ B G GUBET TrHiE & 7
A) ARG B) AW
€) Jd O) @@

(E) orgaid ued

~ Chips manufacturers usually flush bags of

chips with gas to prevent the chips
from getting oxidised.

(A) Nitrogen

(B) Chlorine

(C) Sulphur dioxide

(D) Hydrogen

(E) Question not attempted

e Sarees e farey ot wafir @9 @ @@

% foe 3% & @ g q W &
(A) R |
(B) wrtm

(C) | sRaTaaEs

(D) g™

(E) orgafa wem
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\1;y Which was the first bank established in India?

17

(A)
(B)
©

The Bank of Calcutty
Awadh Commercia] Bank
The Emperial Bank of India
(D) The Bank of Hindustan

(E)  Question not attempted
Fretferfed & & e w1 geer 4 B Y ?
(A) % % Hermar

(B) sy sl 3%

©) e ¥ site shea

(D) ¥ ot g

(E) ogafa wew

What are the advantages of IDE (Integrated
Development Environment)?

(A)
(B)
©)
(D)
(E) Question not attempted

T (?%ﬁﬁs%aa@twﬁﬁq) % AT FT
7

Saves time

Auto correct source code
Easy to develop

Reduces cost

(A) 99 & guq
(B)
©)
(D)

(E) srgate@ g9

1 & & “arerares w1 e A A
(A) 19 9% fores e &, 7o o S ¥
(B)  firems t&d ¥ a9 g5 g1 wed ¥
(C) forers & famm o= st <edy &

(D) frers & A == g1 ey )

(B) orgafa gew

<)) 44JRAC-1]
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Match List I with List II:

List I (Discasc) List IT (Deficiency)

a. Pellagra I. Vitamin A

b. Marasmus II. Vitamin B
- ¢. Goitre III. Protein

d. Xerophthalmia IV. lodine

T 1 3% gy gt 11 &1 frer St

T I (Fm) T 11 (%)

a. o [ faafa A

b. TEE II. fyafi B

c. Mg . 9

d. “iReafan IV. amae

Choose the correct answer from the options
given below:

%ﬁqwﬁmﬁﬁﬁaﬁwwwaﬂﬁqz
(A)  a-IL, b-III, -, d-IV

(B)  a-IL, b-IIL, ¢-IV, d-I

(©)  a-IIL bi1L, c-IV, d-T

(D)  a-II, b-I, c-III, d-IV

(E) Question not attempted / ST weq

If mean of first n natural numbers is @, then
J
the value of n will be-

HﬁQanmaﬁiﬁrW%ﬁ,?ﬁnm
"{FTBBFH‘—.

(A) 0 B) 4 ‘f
©) 3 (D) 2

(E)  Question not attempted / safa wow

1>
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Transform the given sentence into negative
form choosing the best option from below

Everyone present there, cheered for her.

(A)  There was no one present there who did

not cheer for her,

(B) There was no one absent to cheer for
her, O
‘ '\
(©)  All butmone cheered for her there.
o ")
(D)  There was no one present there who
cheered for her.
S )
(E) Qucshqnlmol attempted

Ratio of the number of girls and boys in a
class is 24:16£What is the pcrccntagc of girls
in the ch%s'”;"

forelt @anr o wefwar ofik wom! o dear & 24:16
mmgma%lérwﬁaeﬁﬁu’ta%wﬁwmwm

%? ¥ *t wo -~ ‘ﬂ
@a 66 N B 56 y
{
© 40 ® 6 =
(E)  Questign,not attempted / STaita s
™~
()}

Which of the'following has become the first
“Open Defedéﬁon Free” (ODF) tribal district
of Rajaslhanf{_.;

(A) Tonk =¥ (B) Dungarpur

(C) Churu (D) Ajmer

(E) Question not attempted

ﬁmﬁﬁgaﬁg%awmmﬁwmmmﬁnﬁm

g ¢ '@F\T‘?Qﬁﬂﬁﬂaﬁ (s frer a9 T
7 ")

!
(A) T& :; (B) ¥y
©) & «p (D) ot

(E) AN w9

@))) 44JR-AC'1 ] ) 6
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Which of the following is NOT an Qop
(Object Oriented Programming) prmcxp]co

(A) Friend class

(B) Encapsulation
(C) Inheritance

(D) Data abstraction

(E) Question not ¢ dttcrpptcd
frer & @ B AT AL (ATEATE Afi

(d

st Rt 2
(A) e =
(B) wfad T i
(C) dmgmA

(D) & T AT
(B) ergaf 99

e
(

5 f
A rational number between \/5 and ﬁ 1s:

\/— i V7 %ﬁaﬁﬁumo
(A) 2.64998 (B) 2.432

V2x47 2447
2 2

© (D)
W

(E) Question not atter‘iﬁ%ted / ST 9
(*‘}

Who is the present Chau'man of ISRO?
(A) S.Somnath x,

(B) P. Veeramuthuvel ™"

(€) G. Madhavan Nair

(D) K. Sivan

(E)  Question not attempted
ISRO & T aremsy zﬁg%?
(A) Tg. sy M
®) & dgggm O
(C) . wumm ¥«
(D) %. g W

(E) orgaf@ wem

[ PT.O.



yAn element X is soft and can be cut with a

3.29/

knife. It can not be kept open in air and it
reacts vigorously with water. Identify X.

(A) Sodium (B) Phosphorous
(C) Calcium (D) Magnesium -
(E)  Question not attempted

X e X e ¥ IR Ry weg | e o wear B
SY TN H Gl T @ N THAT A7 g8 9 B
T 9 ot ¥ e wee 11 X @) qef)

(A) wifsEm (B) wiehr™
(C) dfeeram (D) Aifiww
(E) orgafa uew

Who was the first person to receive Padma
Vibhushan Award from Rajasthan?

(A) Mohan Sinha Mehta

(B) Ghanshyam Das Birla
(C) Usha Sharma

(D) Naresh Chandra

(E) Question not attempted

TSR & qgH oo orarE (YResr) @ A
JEAT ST DI T 7

(A) =re et Fear

(B) =A™ T e

(C) ur gt

(D) ==

(E) orgara 9§

e 1% qry gy 11 &1 frem g

T I g

a. @l &1 ar I =gad afrd g
b. -9l BT I =gq @ g
C. OTgTl BT I 7T @

d. &% 9 IV. @& g

A fow g fasedl & 4 @€ O & 9aq B ¢
(A) a-Il, b-I, c-1V, d-111
(B) a-Il, b-1V, c-1, d-111
(C) a1, b-111, -1V, d-II
D) a-l, b-II, c-1V, d-I11

(E) orgafia wed

<)) 44JRAC-1]
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(B)

i iod of
Which ruler of the mcdlfzval p(;l;rat o
Rajasthan is called ¢ Abhinav B

Acharya™?
(A)
(B)
©)
D)
(E)

et ST @l P a1 9ad ST AT
T ST’ HEAT & 7

LIRS Aer
AMfE

EEIERSURTSES
T ST

I 9T

Prithviraj Chauhan
Man Singh

Sawai Jai Singh
Maharana Kumbha

Question not attempted

A)
(B)
©
(D)
(E)

Malarial parésite enters the red blood cells and
effects the -

(A) Small Intestine
Stomach

(C) Brain
(D)
(E)

TR 61 T, Tt Tt BRI N 5 91 s,
frftifaa % & fpw oi &Y wnfa wear 3 2

(A) B s
(B) osmmerg
(C) wftass
(D) 3Fa
(B) omaia wew

Liver

Question not attempted

[ PT.O.



Q. No. 32-36 : Read the following Passage and
answer the questions that follow :

Bhutan is a mesmerising mix of lofty
mountains and deep valleys on the southeast slope
of the Himalayas. Towering peaks reach as high as
24,000 feet (7,315 &’.etres).

_ Also referred™o as the land of the thunder
dragon is a tf-&(ker’s paradise and an
environmentalist’s dream. With 72% of the country
under forest covef;SBhutan’s pristine ecology is
home to endemic and endangered flora and fauna.

This spirituai‘?lgand is the last bastion of the
Vajrayana school of Mahayana Buddhism, which
provides the essence of the identity of the 7,50,000
Bhutanese. Bhutan‘g aunique blend of the old and
new. The country is slowly opening up to the modern

world whilst malntamlng a fine balance with its

ancient traditions. {7}

Bhutan’s ﬁréf;jnational elections in March
2008 marked the country’s shift from an absolute
monarchy to a constitutional monarchy. In keeping
with its ethos, it was a peaceful transition.

The tourism industry in Bhutan is founded on
the principle of sustainability, meaning that tourism
must be environmentally and ecologically friendly,
as well as soc1allf3?ind culturally acceptable. The
number of v151tors,10 Bhutan is regulated because
of the lack of mfra;stf{ucture.

Bhutan’s Go'v’f:é’rnment recognises that tourism
is an important means of achieving socio-economic
development, particularly for a developing country
like Bhutan. They also aim to help promote
understanding among the people and build closer
ties of friendship, bascd on appreciation and respect

for different culturgs and lifestyles.

m
o

32 When was the first clection held in Bhutan?
(A) March2012 (B) March 2023
(C) March2018 (D) March 2008
(E) _ Question not attempted

Pa)) 44JRAC-1]

33

34

35

36

Match List I with List IT :

List I (Words) List II (Meaning)

a. Flora I.  Of great height

b. Lofty II. Culture

c. Monarchy ‘III. Plant life

d. Ethos IV. Government of one ruler
Choose the correct answer from the options
given below : £

(A) a-II, b-III, c-], d-JV

(B) a-III, b-I, c-IVfd-II

(C) a-IV, b-IIL, c-I£d-II

(D) a-1, b-II, c-III, d-IV

(E) Question not attempted

Select the best option as an answer to the
question given below :
Why are the number of tourists regulated in

Bhutan? ¢
Due to danger, for flora and fauna

(A)

(B) Dueto lofty mou;ntams and deep valleys
(C) Due to forest drea :
(D) Due to lack ofiinfrastructure

(E) Question not éﬁgjempted

Complete the following sentence using the
best option :

Bhutan is a unique g“blend to old and new
as o

(A) thereisafine Lg_a}ance between modern
world with ancient traditions.

(B) new visitors are coming more often
now. £

(C) there is socio- eéonomlc development.

(D) there are old and new people around.

(E)  Question not attempted

Complete the given Statement by choosing the
suitable option. {“";
The tourism industry, in Bhutan is founded
on the principle of)sustainability which
means -

(A) tourism has tb be restricted.

(B) tourism has to be ecologically friendly.
(C) tourism has to be based on religion.
(D) tourism has to be promoted.

(E) Question not attempted

[PT.O.




37 Match List I with List II:
v
TR 1 &R g 11 %7 e i

List 1 /& 1 List 11 /&8 11

1 3x ,
a. (_J =0.008 I x=3

5 o
h
4 L,
b. x7 =81 II. x=4
i
e
c. 2% 1956wy . L x=1
d. x4 = ? ) v. x=9
340
o

oh
Choose the correct answer from the options

given below:

Somast

(A) alll bl cIldIv o =+

B) al b, IV, &1l 2

(C) a-II, b-l, :civ d-11

(D) a-IL, bI\féI d-II

(E) Questionggt attempted / STFANT U

s
t-__;’.‘

%’g@mwmﬁql

4) g

(B) & &= ‘”

(C) &l s iﬁm e E|
(D) #FrH ermr%u

(E) orgai@ usA

<)) 4JRAC-1]
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Q. No. 39-43 : Read the given Passage car efully
and answer the questions that follow :

Exercise makes us feel good

It feels good to have a strong, flexible body.

and do all activities you enjoy. Exercising ?an
actually put us in a better mood. When we exerglse’z
the brain releases a chemical called “endorphins
which makes us feel happiefgféfhis is just another
reason why we should exerc{gq !

However, some peoplg?eel that you should
not exercise if it is hot. o

Actually, summer’s:}i:eat and humidity
shouldn’t keep you from exercising —

you just need to take precautions. Some of

these are :
© .
° Exercise in the morning or evening, when

temperatures are lowef) '
e  Wear light coloured clothing, which are not
too tight. <

e  Work out in shaded areag'as much as possible.

e Ifyouare exercising less than two hours, drink -
water before and during the activity.

e After exercise, make siife you drink enough
© water to completely ql%él(:h your thirst.

¥y

O
39 . Select the appropriatg-answer to the given
question : wt '

-
How does exercise make us feel happy?

Answer : Exercise makes us feel happy

because
. - O
it makes you drinkia lot of water.

(A)
(B)
©)

(D)

g p (%)
it puts youin a g‘qqd mood.
it makes you go biitside home.

it makes the braingelease ‘endorphins’
which makes us happy.

(B)

Question not attempted

[PT.O.
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41

42

43.

<)) 4JRAC1]

(A

Complete the following statement choosmg
the best option :

If you are exercising, you should not

(A) exercise in morning or evening

(B) exercise in the hot sun

(C) drink water before and during the
activity

drink a lot of water

Question not attempted

D)
(E)

Match List I with List II :

List I (Words) List II (Antonyms)
a. Humidity I. Rigid

b. Pain II.  Worse

c. Better III. Dryness

d. Flexible IV. Pleasure

Choose the most appropriate answer from the
options given below :

a-1I, b-111, c-I, d-IV
a-1V, b-1, ¢-II1, d-II
a-IIl, b-IV, c-II, d-I
a-1, b-11, ¢-II1, d-IV
Question not attempted '

(B)
©
(D)
(E)

Select the appropriate option for answering
the question that follows :

Why is it necessary to exercise?

Ans. : It is necessary to exercise because
it
(A)
(B)
©)
(D)
(E)

makes you feel more hungry
makes you look smart and fit
makes you feel sleepy

makes the body strong and flexible
Question not attempted

Select the most suitable title for the passage.
The title of the passage is

(A) Benefits of Exercise

(B)  Happy Exercising

(C) Physical Fitness

(D)  Exercise and Happiness

(E)  Question not attempted

10

§
f

E4
!

44/ Given below is a sentence in English,

Translate it in Hindi and choose the corregt
option.

Hard work is the key to success.
1. R‘Tq’ﬂaémmw%l
2. HoR URH & FEAa1 F 9E &

3. fed &M g I aued yrd Ze
4. AT F TEE FEX FH A

Choose the correct answer from the options
given below :

A 4 (B) land2
© 3 (D) land4
(E) Question not attempted

are unique kind of primitive immature
cells that have a remarkable capacity to
develop into different kinds of cells.

(A) Epithelial cells (B) Epidermal cells
(C) Primitive cells (D) Stem cells
(E) Question not attempted

TSI Y&HIK B A% JI95S
aﬂﬁmﬁ%’rﬁt%ﬁ—ﬁwﬁﬁr—rm"‘r?ﬂfém g
T 2F A ST &9aT T B

(A) Tumm N (B)  tued snmd
€) sRaf@md D) |FanRET
(E) i@ ws

“Geedar Dance is performed in which region
of Rajasthan?

(A) Hadoti (B) Shekhawati
(C) Mewar (D) Bagad

(E) Question not attempted
MR o TR 6 W A S P T &

(A) w=d (B) s@Er
©) vams (D) =T
(E) sgaf@ws
[RT.O-




4 ;ﬁm%mm%wmﬁzﬁwm

(A) omi® B5ar (B) oy B
(©) e Bt (D) wades fpay

E) sgafa agw

4 mﬁ“ﬁww@w R Bt oref &

(A) ﬁﬁwaﬁwmw@w
(B)  forafir, o St ot wern Prerer aeny
© alaiwm—zﬁgm

(D) Hﬂﬁ%%aﬁ%mm

(E) fﬂi‘ﬂﬁ—cms:r

—w

!

i %Wﬁé’rmﬁ SCEE

S0

(A) ﬁwﬁo‘fﬂ@ ffeBT <1 T % |
(B) Gﬁ‘iﬂlﬂﬁs‘rl
(C) = Twrd A
(D) frEeT qwa &
(E) W‘QEUQT‘F

x_. J

l \‘ ”
If 15 women or 30 girls can stitch 270 sults in
18 days, thén'how many suits will 10 women

and 20 glrls sntch in 18 days?
(A) 320 sults (B) 300 suits
(C) 360 suits (D) 400 suits
(E)  Question not attempted

gt 15 afed a 30 wofpat 181%%&270113
Tt 2, EﬁrlOGﬁTﬁaﬁTzoagﬁﬁm 18 =1 %
foram gz faeir?

£
(A) 320@ (B) 3009z
(©) 360@@ (D) 4009z

(E) orgata vew ‘e

<)) 4JRAC1] . g @

5)/ Match List I with List II:

List I (Books) List 1T (Writers)

a. Zakhm Ke I.  Veer Bhan
Charon Oor |

b. Gunbhasha I, Shiv Chandra

:5' Bhartiya

c. Raj Rupak ;Ifr Hem Kavi

d. Kanak Sundar, IV Mani Madhukar
Kesar Vilal < 3

T 1% @ g 11wt frar SR

T 1 (g=) o T ()

a wEFEiAR o L 4R

b. TeraTST 23 I Raes ardg

c. T w ﬁ? M. ¥

d. %% G, BAT Feﬁﬂa IV. #fT 7gsR
Choose the correct answer from the options
given below: ;
' w
R R T Rt F @ Hﬁ T BT T KA
(A) a-IV, b-I1, ¢, d-ﬁ"i’
o
(B) a-IV, b1, c-IIL, dLI¥
>
(©)  a-IL b-I, c-II, d-TV.

(D) -1V, b-11L, c-1, d-1I

(E) Question not attempted / STaRG wow

N
h
52 Wmiﬁrwl@@mﬂwﬁam%?
@), (@) won
(C) gwrEm ' D) e
(E) orgafa ws
1 [PT.O.



5;/ Match List I with List II:

List I (Metal/
Non-Metal)

List 11 (Property)

a. Mercury I Hardest natural
substance and is a
non-metal

b. lodine 1. A non-metal which

is good conductor of

electricity
c. Diamond III. A lustrous non-metal
d. Graphite IV.  The only metal which
is liquid at room
temperature
GBIt Qiﬁ 11 &t P e
T (wg/erng) g ()
a. 9 I woRaw wphies qard
Te FUTg ¥
b. EE II. & sarg < foga @
EISER
c. T III. &% T9%aR oreng &
d. JwEE IV. 3ther g T 9
AT I 5 B &

Choose the correct answer from the options
given below:

ﬁ%%qnqﬁam‘fﬁéaﬁwwwmz
(A)  a-IV, b-I11, c-1, d-I

(B) a-lll, b-1V, c-1, d-11

(C) a-1V, b-111, ¢-I1, d-1

(D) a-1V, b-1, ¢-111, d-11

(E)  Question not attempted / srafta wg

Evaluate : 1198 x 1198

A w1198 = 1198 ,
(A) 1435224 (B) 1430204
(C) 1432204 (D) 1435204
(E) Question not attempted / aﬁﬁﬁﬁ LEEH
; o2
: SR
pel) 44JRAC-1] 2
_ 557
s Qt r
\? "t e
\.\7'1 iF L

55

S

Match the phrases of List I with the

corresponding words of List I :

List I List I1

a. Severe shortage I.  Emeritus
of food

b. Aretired person  II. Hydrophobia
retaining honorary
title

c. Fear of water III. Famine

d. Abnormal fear of IV. Claustrophobia
confined place

Choose the correct answer from the options

given below :

(A)  a-IL, b1, ¢-I1, d-IV

(B) a-IL, b-III, c-IV, d-I

(C) a-IV, b-1, c-IL, d-III

(D) a-I, b-II, c-II1, d-IV

(E) Question not attempted

Who is the Painter of “Bani-Thani” Painting?

(A) Nirmal Devi (B) Amar Singh
(C) Manmohan Devi (D) Nihal Chand
(E) Question not attempted

T W a1 R @) AR ?

(A) frfe (B) o s
(C) wwmrew &y (D) frem g
(E) orgafa wew

T 136 T el 1 a1 B it
T @I

a. ¥TgR [ e

b. am . <=

c. a1y| . ugw

d., arfafy V. g

A g g et ¥ & W SR @ aa i -
(A) a-ll, b-1, c-IV, d-111

(B) a-I, b-II1, ¢-1V, d-11

(C) a-Il, b-1, ¢-111, d-1V

(D) a1, b-Il, ¢-1V, d-1II

(E)  orgafa v

[ PT.O
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The sum of rational numbers from the
following :

V23, 225.0.3796, /7 is -

(A) 153796 (B) 17.64

©) 1979 (D) 7.43

(E)  Question not attempted
V23,4/225.0.3796, 47 i ¥ & wiim
TS HT AT T e ?

(A) 15.3796 (B) 17.64
(©) 19.79 (D) 7.43

(E) organa us

Conversion of Organic matter to compost with
the help of earth-worms is known as -

(A)
(B)
©)
(D)
(E) Question not attempted

e qeref 1 Hgell @ werEan ¥ Wie § gawA
T HEA & ¢

Manuring

Vermi Composting
Composting
Decomposition

(A) @mE ST | (B) &fr wrifE
(C) =mREn (D) &wEA
(E) &gana ved

Which of the following does not give instant
messaging?

(A)
(B)
(©)
(D)
(E)  Question not attempted

Pt 4 4 2 o g Ao 2 gl T E 7
(A) arg HHT (B) Wugs A¥wT

(C) TmHH (D) T oS

(E) orgafta usw

Yahoo Messenger
Facebook Messenger
Google Chrome
Google Hangout

6L

63

larpest milk
Y2

()Zet

Which of the following was the

' ' v

distribution organisation in ndia in 2
(A) (1) Amul
(C) Nandini (D) Mother Dairy
() Question not attempted

wp TR
Prafafae & A, 2022 W wraa @ qag ast §
frarur drew @y ar wr ?

Kwality

I

(A)  Fafed (B)  arye

(C) =ifeah (D) wet dudl
(B) ergafia wew

“Kandora’ ornament is worn on n -
(A) Neck (B) TFoot

(C) Waist (D) Head

(E)  Question not attempted

ORI SIEY QT gl i

(A) T (B) X

(C) &1 (D) R

(E) orgaRa v

T 1% wre g2t 1 @1 fram @i

T 1 T 11

a. & +am L TR Efy

b. a1 +% I & @iy

c. 3+% I ornfy @ wfy
cd. e+t IV. oy @ sy

ﬁﬁﬁqmﬂmﬁq‘fﬂ'ﬁaﬁmmmw :
(A) a-Il, b-I, c-1V, d-III

(B) a-Il, b-1V, ¢-I, d-1I1

(C) a-l, b-ll, e-1V, d-11I

(D) a-lI, b-l, c-1V, d-I1

(B) orgafta uea

[ PT.O,



™

Q) 44JRAC-1]

Ghven Below 13 an exclamatory seatence,

Changs e assertive form, choosing the best

opron.

What 2 delictous flavour these mangoes

have !

1. Those mangoes have a delicious flavour,

2 Thew \‘.:}icious mangoes have a good

flavour, '::

The o0 Favouris of these mangoes only,
The mangees are delicious.,

Choose the somect answer from the options

aiven helows

() 2oaly (B) 1lonly

(© Sonly (D) land4only

(E) Qu-:s&gn not attempted

Ao t4r
o W

Idenufy lh:‘gc‘%m\:t statements.

L. Ifanaricle of T200 is sold at a loss of
232t SIP. will be T 230.

2. IfCEZT 35625 and Gain=20%, then

4l
ol
s *
ok
‘
-

.
.

100
S XSP.
700+ Gain% >

Choose the mostappropriate answer from the
opuons givembelow:
(A) 3. 2apd4only (B) 2and4only
(C) landgonly (D) 1,3and2only
(E) Question not attempted
TE TUA B TEOH Fivyu)
1. ?:00&1&’:@;3@@25%31%“%3%&
=g == 3 250 Brm
<20 TRHEIHT =T356.25 dIRam =20%%,
a fema e = $67.50 @m)
3. TR, w1 w1 96% B A

4%@
)

100
h P = — ﬁm
8 S T T I

ﬁﬁﬁémi’ﬁmmmmﬁﬁm:
(A) FTE3.2304 (B) Fam2aix 4
(C) Fa@ 134 (D) Faw 1,3 oik 2
(E) Q|

14

66 The median of the given data 9, 7, 6, 7, 8,

10, 6.4 12, 3 is -

9,7.6.7.8.2, 10,6, 4, 12, 3 i) & wiftz
BRI
(A) 2
©) 8 D) 6

() Question not attempted / erafta wg=

@l%m@nmf?gﬁmﬁw
T

G 1

@) 7

a. Afy + 39 (1) o dfy

b, R+ ((IT: & @@ wfy

c. fu+aw :}6 o7 WX gy

d. s+ g V. fert €l

N R 1y Rraedt ¥ A wht 5a a1 9@ D
(A a-l, b-I1, e-1V, d-III

(B) a-Il, b-1, c-1V, d-III

(©)  a-IL, b-IV, c-1, d-Ji

(D) a-lllL, b-1V, c-I, dell

(B) ogaRaus® ¢y

What is the scqucn‘n of the followin

memories according tosAccess speed (fror
fast to slow)? :

<
1. RAM 2¢ HDD
3. Cache 4. Register
5. SSD

Choose the correct answer from the option
given below:

(A) Cache > Regist:% > RAM > SSD :
HDD

(B) Register > Cacl%‘> RAM > HDD >
SSD

(©)  Cache > Regis{e} > RAM > SSD >
HDD o

(D) Register > Cachg > RAM > SSD >
HDD ¥

(E) Question not attempted

AR B IR R F egER (@ |
iﬁ:{‘)mﬁ'm:

LW N waE
3. & dn Wex
5. wuEs ™M

%ﬁqmﬁwﬁﬁ%ﬁmwmaﬁm:
(A) > P> wwd>mad
B) Wt > &> W% @ & &> g
(©) 3:3’7>T%|R‘(>%q>qqqgﬁ>@a—a
(D) T >FA> > wog S > wg &
(E)  orgafa wew

[ PT.O.
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Which of the following is the longest canal
of India?

(A)
(B)
©
D)
B

Fretoiaa & | & & et Wi % gag ) 7w}
&?

(A)
(B)
©
(D)
(E)

Anoopgarh Canal
Ummed Sagar Canal
Indira Gandhi Canal
Ganga Canal

Question not attempted

TG &
SHE | 6T
3y i e
T R

SN U9

Who is called the “Rocket Woman”’ of India?
(A)
(B)
©)
(D)
(E)
T ® “UWche g’ fohdl et S & 7
(A) ST 7T

(B)
©)
D)
(E)

Janki Amma
Kalpana Chawla
Aditi Pant

Ritu Karidhal

Question not attempted

BT AT
CICRIRGE ,
g @wrhamm
aﬂﬁﬁaﬁ:ﬁr

15

not correct

7/1/ Choose the statements which are not o=~

in the context of Rajasthan. "

1. Areca of Rajasthan is 10.4% of India’s
total area.

2. Literacy percentage of people of
Rajasthan is 52.12%.

3. There are 928 females for every 1000
males in Rajasthan.

4.  Galouti Kabab and Ganthiya are famous
foods of Rajasthan.

5. Under British, the old name of
Rajasthan was Rajputana. .

Choose the correct answer from the options

given below:

(A) 1and4only (B) 2,3 and5only

(C) 2and4only (D) 1,2 and 4 only

(E) Question not attempted

) e U e F ¥ sy gRIg o TSR &

e o HEl T &

1. ORI & §9%d SRA & Ho arsThel Bl
10.4% %1 |

27 ST @ |eRat 52.12% 1

3. o™ H wfa 1000 gEST @Y e # 928

Higemd .

A TRl FEE oiR Tifsar TeRa ¥ uirg
= B

5. Torfesr TSt & oA @1 GO W TregETT
o :

- g g famedt # & wE wwR @ aw St

(A) waleid B) Fa@2,38R S

(C) #Hmw@2sit4 (D) Haw1,2alx 4

(E) srgana wsw

Other than camel, which of the following
is considered as the “State Animal” of
Rajasthan?

(A) Fox (B) Black Buck
(C) Python (D) Chinkara
(E)  Question not attempted

& & arfafam, Fra & 4 feg vy @ wowem ¥
"I g & TS e wan & 2

(A) @y (B) aren R
(C) owmr (D) THara
(E) orgafa v

[ PT.O.



}3 Given below are sentences that may be | 76 Choose the option where the prefix has beg,

correct/incorrect in the use of tense. Select used correctly in the words given below :
the correct ones.

1.  Initial
1. 1 was having shower when the phone ) Innumerable
was ringing. .
2. He said that honesty is the best policy. 3. Imitate
3. Rama promised that she will do her 47 Unless
hohework. 5. Irreparabley
B gp alktell asleep while he was reading Choose thevmost:‘?z})propriate answer from the
2o . options given belgw :
Ss We arrived at the airport at 6 pm but =~ l
th\gi,checkin counter was already closed. (A) 1,2and 5,%1,1}3’ (g) g ang g Only
Choose the correct answer from the options (©. 3,4and 5"9~n y (D) and o onty
given below :

(E) Question not attempted
(A) 1,3and4only (B) 2and4 only

(C) ’%%nd Sonly (D) 1and2 only

=\ ) Ly ?
(E) Question not attempted ; 77/ R T :?E;ﬁ T el S '
g , S (A) erie %*’_ﬁi,‘ (B) ydartees frar
O Tore o ¥ ST v e v e ¥, 5 © T, ©) e
TR ) orgafandy)
1. T v _ <3
2. TEWEE 78~ Which of the following blood group is
3. @% e considered as universal recipient?
4. o W : % Frefofas % & &EPa1 o T wemd 3 7
< Ry e et o et i QN7 T T T
o - (A) BY Sy B) of
(A) am 2 .(B) %aw 3 © A+ O
(©) g4 (D) et 1 o O a
5 . (E)  Question @t attempted / =i wgw
{;\;!
75 Whatis the width of ‘R ajasthan’ from East to ?Y Thedifference between the compound interest
West? (o and simple interest on o sum of ¥ 10,000 for
(A) 839 km (B) 896 km 2 years was X 4003 The rate of interest p.a. is-
(©) 831} km (D) 869 km 10,000 % TRy 2 o % forg =
(E)  Question not attempted S WU =rcE i T 400 3 T Y o3
TR 0 o o e - (Rrrd 3) s R
(A) 839 fmy (B) 896 fpy A) 10%  w B) 209
(C) 890 fry D) 869 fei © 40% ¥y 150
(E). &A@ ugw

- (E)  Question not attempted / SR ‘:T"ﬁ
@») 44JRAC-1] 16 .
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Match List I with List II:
List I (Name of
the process)

a. Nitrogen fixation 1.

b. Ammonificationgy I

c. Denitrification S‘Eé

N
h
"}
(-

III.

List IT (Steps
involved)

Formation of
ammonia from
amino acids
Conversion of
ammonia into
nitrites and
then nitrates
Conversion of

o free nitrogen of
atmosphere to
compounds of

O nitrogen
d. Nitrification ¢ IV. Conversion of
g nitrates to free
- nitrogen
T I%ma@llwﬁwwaﬁm
TN 1 (T 1 7m) jﬂfﬁll (dfre TE)
a. g | A G L
Rerfragar , gt %1 i
b. SHMBT (oIl T @ EEE
‘i}:; ol o1e & Tgge A
c. Frmgdwtr Ol argAsa 1 ot
S e e
% il  afEcH
d. =gt IV. gge &1 g
Agerer A afeR

Choose the correctianswer from the options

given below:

o

%mmﬁwﬁi(ﬁaﬁwmwaﬁmi

(A)
(B)
©
(D)
3]

a-I11, b-1, c-llyd-1V
a-IIl, b-1, c—IV—d I
a-1, b-11I, c-IV d 11
a-IlI, b-1V, c-1, d 11

Question not attempted / 3rafie A
<)) 44JRAC-1]

81

Which Web page is displayed differently for
different users?

(A)
B)
©)

Home

Dynamic

Current

(D) Static

(E) Question not atlcmptcd

B G AF IS T TG B aﬁ«ﬁ % ferg o
Tl 3 el A 2 O

(A) @ <t

(B) smHfie (wiieli)

(C) ==

(D) wfew b

(E)  orgeife we &

™

(Uw)
{ 3 .

A galvanometer is an 1nstrumen{ that

(A)

detects the presence and dlrecnon of
current in the circuit. =3

(B)

measures only the direction of current
in the circuit.

©
(D) measures the current in the circuit.
(E) Question not attempted <

e T TEr O & S —
(A)

measures the voltage across the circuit.

™

WH%WW%WJ.@T%WW
ST T 1

qﬁqaﬁﬁgaamaﬁﬁsnﬁw%l
qieqy § fawa &) Aar ®)

RICEREEE SRR IEE| § )
FFANT A N
(%)
N
The literacy percentage among males in
Rajasthan as per Census 2011 4%

2011 &Y SFIUET &6 SR, Wﬁﬁgw‘raﬁ

(B)
©
(D)
(E)

e wfee ¥
(A)  79.2% (B) 72.9%
(C) 78.9% (D) 75.7%

(E) Question not attempted / SIART w7

[ PT.O.
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: ‘ ' T T 3T T TAErd i i
S&  March the wonds of List 1 with the word 8V Pt & 4w

having a similar meaning in List 11

. g )
List T (Wordy) List IT (Synonyms) 2. i
3. Inception . Idea 3 st
N Bizame 1. Dissolve 4w
<. Notion III. Beginning 5. e
d. Liquidate IV, Unusual e i g et & @ @ o9 & 99 it
Choose the comect answer from the options A) 2.3 B) 4
given below : ‘ . (C)‘ 3 s O - 1
A =l b-lll.‘c-l\ Ld-1 e
(B) =l b1V, oL, d-11
i 88 Which is NOT a hardware device?
D) =L bIL L 41V Nl s ol e
(E) Question not attempted s ©) Monitor
(E) Question not attempted
83 Thevalue of (0-04) 7% will be:  Pretiefen ¥ & A 1 e ST E £ 7
- . se, (A) @y (B) www
(0-04) " mr=m=rame? © ww D) e
(A) 35125 B) 125

(E) ergai@us

(C) 25 (D) 625
(E) Question not attempted / HTANG Wed

89  Change the given sentence of Indirect speech
to Direct form by selecting the appropriate
: option.
QT + W59 &1 GEl § 2 f = .
86 svmEmEA AR IR Sudha informed me that she would go to
1. wigsg meet her mother next week,
2. gmEm (A) Sudha said, “I must £0 to meet my
R mother next week with you”,
= o (B) Sudha said to me, “I may go to meet
4. widgmw your mothér next week”,
T2 720 T e & & e wat @ aa Fifo (C)  Sudha said to me, “I shall g0 to meet
(A) w2 (B) a3 my mother next week”.
: - . (D)  Sudha said to me, “I would go to meet
(C) FEm4 (D) 7w | my mother next week”.
(E) gaia v (E)  Question not attempted
a@ 44JRAC-1] 18
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Match List I with List II:
List | (Important List IT (Buil¢ by)
Pl aces)

1. Jaigarh Fort L

i Hawa Mahal Qutub-u-ddin Ajbak
h, awe dlld

II. Sultan Ghiyasuddin

‘ « - Khilji
o Adhai Dinka ILI\ ;Muy\ Raja Jai Singh
Jhompra & “‘)
4. Ajmer Sharif IV EMaharaja Sawai
Dargah Platap Singh
[ 3 @rer g 11 o ﬁmﬁ B
1 (et =) I (e g fwio
ran )
a. TG I feT . FIIEA Y
b, e Hed UL g framgg
€ et

¢. oreTs T &1 HiusT 111 frstt <o o Riw

d. SR g ST ;IV TR Fars g Rie
Choose the correct anster from the options
given below:
ﬁﬁﬁqmﬁwtﬁﬁ@rﬂé’mmmwaﬁm
(A) a-III, b-IV, c-1I, d-I

(B) a-lIIl, b-IV, c-1, d-II

(C) a-III, b-I1, c-IV, d¢l

(D) a-III, b-1, c-1V, d-II

(E) Question not attempted / ajﬁﬁ?f LES

Which of the followingﬁ is NOT a declared
UNESCO World Herltagc Site?

(A) Jantar Mantar, Jaipur

(B)  Amber Fort

(C) Mehrangarh Fort

(D) Keoladeo National Park

(E)  Question not attémpted

Freaferfiae & & frd UNI‘:SCOf%raagua?fuﬁBT
S 8 e T 7 o

(A) it sfart, srage &

B) emwRenm L

D)  Faareg T T

() srgafa gew

19

92

ir
Arrange the given metals in order of the
decreasing reactivity:
1. Zinc
2 Calcium
3.  Copper A
4,  Potassium ¢
5 p

qrefirad ‘
g @)

Choose the correct an§vyer from the options

given below: .

e frg T Ferpedl A @ Eé’t I T TAT BTG

(A) 4,2,1,3,5 (B) 2,4,1,5,3

©) 4,2,1,5,3 (D) 4,1,2,3,5

(E) Question not attempted / arand 999
L

A bulb is connected to*an electricity source

of voltage 220 volt. rThe current flowing
through itis 0.30 A. The :power of'the bulb is:

(A) 66 Watts fjx

(B) 660 Watts =3

(©) 7.3 %102 Watts

(D) 6.6 Watts

(E) Question not attcmpted
qzsaﬁrﬁzmzh?aafagaa‘mﬁa’mm%l

Hﬁﬂﬁﬁﬁaﬂmwmﬁogox‘\%la&xaﬁ
qiferT BlT-

(X

R

'e’.w

(A) 66drR &y _aamet
(B) 660 ar= o e
(€) 73 x1024= a3
(D) 6.64a
(E) srafta wew
[ PT.O.
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The address of website is called :
(A) URL (B) ID

(C) DNS (D) Location
(E)  Question not attempted

JTHIEE b I DY HeEd §

(A) Famuw (B) o
©) dTuw (D) weem
(E) rgaia wew

U AT BT R ared 2 |
(A) T@SaRt (B) I @
(C) TS (D) oo &
(E) orata uss ’
Match List I with List II :

List I List II
a. Analogsignal I. Amplify the weak
signal and resend
b. Repeater II.  Connect Multiple
Devices
c. Digital signal III. Continuous signal
d. HUB IV. Discontinuous signal
A1 1% @ g 1 &1 e S
Tl T 11
a FTEIERD L B wH e
FH AR e |
b. gt I aga Syl @y
(frdre) Sirgar 21
C. EHY Hha I, §aa wha
d. magd IV. sraad da

Choose the correct answer from the
given below:

%fﬁqwf&wﬁﬁqﬁwzﬁrmaﬁﬁ—q;
(A)  a-1V, b1l c-I11, d-]
(B)  a-lIl, b-l, ¢-I1, d-1V
(C) a-lll, b1, eIV, d-11
(D) a-1V, b-l, ¢-1I1, d-II

Question not attempted / arafta we

options

) H4JRAC]

20

97

i eivsT ST B % Y T 9T R
(A) o (B) =&
(C) g D) =
(E) orgaia 9o

Air gets polluted due to various reasons,
Identify which are NOT the direct causes of
air pollution.

1 Dust storms

2 Smoke from volcanoes

3. Domestic sewage

4 Agficultural waste

5 Burning of wood and coal

Choose the most appropriate answer from the
options given below:

(A)
B)
©
(D)
(E) Question not attempted
Waﬁ‘iﬁmﬁﬁ@aﬁﬁr%lsﬁéﬁﬂ%m&
T J AT WU B oy 7 & 7
- e 9 e

1,2 and 4
3 and 4

3,4and 5
2,3 and 4

1

2. I ¥ P gai
3. W v

4 N afine

5

[PT.O.
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W

(1,

\V/

which services are used to ma
a\'ailﬂble for 24.><7 all over the w
(A) Web hosting

(B) HTTP

©) Tele commuting

D) Video.conferencing

) Question not attempted
aggﬁzaﬁ%'(w (24x7) IUTY H(F ¥
fagrsrC 3 1T A AT 1T ¥ e ey 3 2
() TR (B) waAHG
() & BT (D) fofsa) gem
(E) i 79

Which tag is used for bullet list in htm]?

(A) <DD> (B) <OL>

(C) <UI> (D) <UL>

(E) Question not attempted

a1 o T F g R % R i a3 e
FAE T

ke website
orld_‘?

(A) <> (B) <an >
(C) <gams> D) <gque
(E) rgare 99

1.14 is what percentage of 3.8?

1.14, 3.8 it fepe wftiera & 7

(A) 30% (B) 40%

C) 20% (D) 25%

(E) Question not attempted / ST T

The vaccines prepared through recombinant
DNA Technology are - '

(A) First generation vaccine

(B)  Second generation vaccine

(C)  Fourth generation vaccine

(D) Third generation vaccine

(E) " Question not attempted

T 2 Wi gt DNA (St SR 2T

TS E, e B ;ZM
(A) veedt Gt o1 St s

B) oy Gy et Sramt m%j 4‘;‘”@
©) At mIw s 5
D) Sty vy o et % 250
E)  erafe e 247"

Wiagracy

163

104

21

T 1 % T g 11 o1 frerm BTG ¢

LGLR 7 11

a. frg + = . gfrEH

b. T + B 11, 7oy

c. T + offuy [, & gt

d. 7y + e v, e '

13 e Rt & Y T o T A

(A) a-lll, b-II, c-1, d-1V

(B) a-IIl, b-l, c-11, d-1V

(C)  a-IV, b-IIl, c-1, d-1I

(D) a1, b-II, c-11I1, d-IV

(B) orgaid ws

Match List I with List II:

List I (Name of the List IT (Place).

Project)

a. Meja Dam Pariyojana L Pratapgarh

b. Som-Kamla-Amba II. Sawai
Pariyojana Madhopur

c. Moral Dam Pariyojana III. Bhilwara

d. Jhakham Dam IV. Dungarpur

+ Pariyojana

2 1% arer gt 1 &t e it

T (@ s s am) @ I ()

a. 3T aifer R L Y

b. WH-FHHA—o qrae 1L | ‘-'na‘rg'(
c. AR@ qry gt I1. “fiearst
d. wrew e i IV. QR

Choose the correct answer from the options
given below:

M g g fermet F | wd) SR @ wmw A
(A) a-ll, b-1, c-II, d-IV

(B) a-lIl, b-1V, c-I, d-IT

(C) a-1V, b-Ill, c-II, d-1

(D) a-IIl, b-1V, c-II, d-1

(E)  Question not attempted / argaia wew

[ RT.O.
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106

Y

I/)S

pel) 44JRAC-1]

is called the City of Peatls.
(A) Ahmedabad  (B) Mysore

(C) Chennai (D) Hyderabad
(E)  Question not attempted

@ Wl T e wEd ¥
(A) STEHTE (B) ag
(©) o= (D) ¥etEr
(B) ‘: 7T

h

Which of ,!hc following is the most reliable
pmtocol"

(A) UDP (B) POP
(©) TCP | (D) FTP
(E)  Question not attempted

frfafaa & 4 o @1 Wowtw gag s
favaeimee

(A) q;sréﬁ (B) drand
© ‘&é’r‘tﬁ (D) TwaAD
(E) ag:ai}a LEET

L s
Which ofithe following is NOT a hardware?
(A) Scanner (B) - Browser
(C) Monitor (D) Printer
(E) Questlon not attempted
ﬁﬁrﬁﬂ'@a # Y B 1 ERIAT A& E?
(&) R (B) wmwer
© =T (D). fix
(E) aﬁaf(a LELS

“
% T fras yen g g A s mr wey ¥ 2
1. dges gumg

2. fﬁvm

3. emm‘mam

4, mem
"ﬁqqﬂﬁmﬁawmmww;
(A) 432 (B) w3

© ¥4 D) e |

(E) ot 5

regarding G20 Summit?

2008.

2. The Headquarters of G20 is at
Los Angeles, USA:

3.  First ever V1rtua1‘,§‘.xmm1t of G20 was
held at London in:2020.

4.  Theme of India GZ?) was One Earth,
One Family, One»Future

5. G20, 2024 will be'held at Brazil.

Chose the correct answer from the options

given below:

(A) 2,3and5 ‘;f;‘

B) 1,2and5 o
: vy

(C) 1,4and5 &

(D) 1,3and5 -

e

(E) Question not atteippted
FreiTie et 7 @, S 20 iR g8 % fog

(A) 2,335 g&;
B) 1,285 ':«:
©€) 1,485 et
®) 1L3sdks

(B)  rgafa wew

22

B

1 |

109~ Which of the following statements are True

1. First G20 Summit was held in USA ip

TN HTAE?

1. geeof 20 Rrer §9ie, 9.08.T. & 2008

2. ﬁﬁzoa;rg@qmna:tqqﬁm,tgm.q.ﬁf%r

3. 2020 ¥ s 20 RraTame o T o
RESR ] ot

4. B 20 T o i ot - e
TS TRER, & wisy)

5. vﬁ202024mﬁﬁrwmﬂml

%ﬁqmﬁw&ééﬁmmmaﬁﬁq



Match List I with List I1

1 )
l List | (Speed m List 11 (Spccd in
Km/h) m/scc.)
a. 6 km/h I. 85 m/sec,
b. 20 km/h 11 % m/sec
¢. 30.6 km/h 1. 20 m/sec
d. 72km/h Iv. -%) m/sec
@ [t gl 13 B i
T EEER) T G )
a. 6 Terdi/E. L. 8594
b, 20 Fde. I g A,
c. 30.6 fes/H. . 20/,
. 50
d. 72 fedie. IV. Y A,

Choose the correct answer from the options
given below: . .

A f&g T feedt o ¥ GE IR @1 T St
(A) a-IV, b-I1, c-1, d-III

@) a-ll, b-IV, c-IIL, d-1

(C) a-II, b-1, c-1V, d-1II

Ly a-Il, b-IV, c-I, d-HI

(E)  Question not attempted / JIFART F&T

¥ Match the given words of List I with their

corresponding words in List IL.

List I List IT

a. Director I. e =t
b. Accountant 1. dged
¢. Insubordination III. T
d. Resources IV. @@

Choose the correct answer from the options
given below -

My
(A) all bl eIV, d-1 _¢em
B) &l b1V, e, d-Il Sz
(©) a1V, b-1, c-11, d-1II .

(D) -1, b-11, c-1I, d-1V N
(E) " Question not attempted //yj‘:—;
W44IraC ) -° */gﬁr

I iidl

23

112

113

114

breadth of a

The dimensions of length and n the

room, when increased by 3 meters are 1
ratio of 5:3 and when decreased by 2 meters
are in the ratio of 2:1. The length of the room
in meters will be - !
T T FY P, e ofrg A, T
3 e a1 gfz we ax e oy et A ST
5:3 Bre & weT weds & 2 Szt A e T 7 ST
2:1 QY S ¥ 1 Y ) s Jre J Fd Bl

(A) 22 (B) 12

©C) 24 (D) 20

(E) Question not attempted / Fratd 9

Which attack blocks a legitimate user from
using computer?

(A) Spamming

(B) Virus

(C) DOS (Denial of Service)

(D) Phishing ‘

(E) Question not attempted

I T 31 R8T T SUATTEhAT Bl BT T
HE Y AhdT & ?

(A) &

(B) =m@xH

(C) =t aft vy (R o i)

(D) Tefi

(E) rgaia wew

The common factor of (43“ +4171 ) and

(43% +41°) witt e

(434l +41‘“) o (4343+4143) X ard
TS T E ? |
(A) (4343 +4l“‘3)

(B) (434' +4l“)

©) 84
(D) 3
(E)  Question not attempted / =i wem

[ PT.O.



116

117

M/ W IUET ¥ T g1 @7 gg i)

. w+aa

2. g+9q

3. wE+d

4. ufy+aw

e R T Rt & @yt s o AR
(A) &Ham2 ‘3(B) e 3

©) &am 4 (ﬂ)(D) & 1

(B)  srgafa g %

Marks obtained by"lS students in Maths are
given below: -

Marks obtained 1511011211520

[ No. ofStudents 3145121

Iaﬁmﬁfamwﬁmﬁmw%ﬁqw%
aE  SPS [10 [12 15 [20

ferenféfay oY w3 QLQL

Average marks of the students will be-

ﬁlﬁlﬁﬁﬁﬂ@'ﬂﬁ%ﬁ’ﬂ—

A) 11 (B) 13

©) 10 C‘;i(D) 12

(E)  Question not %ﬁempted ! Igaia weg

qﬁlmm&qyﬁllm%ﬁﬁq;
T T I
a. T G gan L
b ﬁfﬂ?@q@mﬁaﬁm% I

5 o, P
% _’”ﬁ”‘”‘lmf&"?ﬁm |1
d. GWE@" 3y IV aﬂ_qa_,
ﬁﬁﬁqwﬁmqﬁ%mmmm%
(A) a-l, b-IJ| C-IVal-]g
(B)  a-lll, b-], . 15d-1v
(C) a-1, b-I| (,]] (]IV
(D) L, b-ll ety g ppy
(E) BET

4’))) 44JRAC-1]
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119

118 Which State Fipallce Commjg
/" working in Rajasthan?
(A) Fifth (B ) Seves 5
(C) Fourth (D) Sixth
(E) Question not attempteq
STTSTehel TR N BIar “mﬁawyh
HITETE! O -
(A) diar CNB) T
(C) dem g%}(D) a

(E) orqaf@uss
S
gt
What are the functisiis of operatiy

Manage memory
Manage calculations
Manage processor time

Manage creaéon and deletion of
folders W)

Choose the most appropriate answer fron
options given belox’i;

(A) 2and3 only s
B) 1,3 and 4 only
(© 1land4 only

1,2 and 3 only,

Question notéttempted

Wﬁ?ﬁa%wm{é‘??
it )
Wﬁ‘cﬁﬂ?aﬁﬁ{ﬁam%l

bl R -

pfeset

2 Syste

1
2.
3.
4

(€)
(D)
(E)



120 Given below are the sentences in which
degrees of adjectives have been used. Select
the correct sentences.

He is the strongest man,

No other musician was better than him.

The crocodile is the largest ofall reptiles.

4. This place ighear to my home.

Choosc the corgegt answer from the options

given below : OY

L) D —

(A) 2and3 «‘j}‘ (B) 2and4

(C) 3and4 v (D) 1,2and3
-

(E)  Question nqt attempted

Q‘\‘ .
Which of the following statement about

121

“Presidential Rule™ in Rajasﬂmn is/are

correct?

1.  First President Rule 13-03-1967 to
25-04-1967! L

2. Second PiéSident Rule 20-08-1977 to
21-05-1977,

3. Third Prgsident Rule 17-02-1980 to
05-06-198¢

4. Fourth Prefident Rule 15-12-1992 to
03-10-1993
Choose the correct answer from the given

options: .

(A) land3 o[ﬁjy (B) 2only
(C) 2and3odly (D) Only 1
(E) Questionfidt attempted

:ﬁéﬁqnqaﬁ:rgi/éaswmﬂﬁ‘ “qregafer
STE" % T adge/E 7

1. gge T rEd 13-03-1967 @
25-04-1967 a®

e Tz amad 20-08-1977 g
21-05-1977 7%

3. e et e 17-02-1980 @

05-06-1980 @
4, iﬁwnqﬁsm 15-12-1992 @

03-10-1993 a&

o

few T faedt B wé TAT 9T
(A) Faw | T3 (B) &ad2
(C) Faw2sir3 (D) @@l
(E) orgaia 9

<)) 44JRAC-1]
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122 Which city of Rajasthan is known as the
“Venice of the East™?

(A) MountAbu  (B) Jaipur
(C) Bikaner (D) Udaipur
(E)  Question not attempted
¥? W0
(A) wRZom o (B) T
(C) dwrar M (D) FFEI
(E) o w905

<f

il
}}3/ A woman due to her old age cannot read
newspaper clearly. She is suffering from

(A) Presbyopia®  (B) Hypermetropia
©) Astigmati%ié (D) Myopia

(E) Question not attempted

o R T G % T GHIETT 9 Bl

e & 7Y g TR Prefnad o § e ghed
qafkaer? <
(A) wageRi@  (B) ECECEAIRE
(C) srfegmd (D) =rEEr
(E) aﬂﬁﬁﬁus(f;

(o)}

124 What is BCC ingmail?
(A) Blind Content Copy
(B) Bind Carbon Copy
(C) Bind Con;g;xt Copy
(D) Blind Carbon Copy
(E) Question _\r}ot attempted
S ¥ A (BEC) @ ¥ ?
(A) =S T Wi
(B) ards @
(€) ards
(D) =AEs HIEARHG
(B)  orgafa wsd
[PT.O.
2~
=

4



125 7 3 & B a1 o e o ot i B 7
(A) ¥ (B) war
©) =m D) w=

}6

127

(E) srqafa we

The unit digit in the product
71 x72x73 %

...... X vveeee X X 79 will be -
TR 7IX 72X T3 o % s, X X TOF
IHIS T e B —

(A) 3 B) 6

G 0 (D) 4

(E)  Question not attempted / HIAN us

In a class of 40 students the data of height of

the students and their number in that range is |

given. The sum of upper limit of modal class
and lower limit of median class is

. ) 140- [ 145- | 150-|155- 160 -
Height in ¢m.

= 145 1150 [155 |160 165
No.of 3 6 |12 | 9 | 10
Students ( f)

o OC .

=T 31 T 41 T ¥ | a5 e o wrgy
M S wfEe war @ el @ 1 gy

¥

zl
arg 140-1145-1150- 155-1160-
(741 5) 145 150 |155 160 |165
S 316 1 12] 9 | 10
q@A(f)
(A) 310 (B) 290
(C) 305 (D) 300

(E) Question not attempted / AR ugw

40ﬁuﬁéﬁaﬁmmﬁmwmwm

26

128

1/‘2/9

Match the given words of List [ w;

opposites in List IL. . t.h th,
List I Listq]

a. Interior ' L. Comple,

b. Simple I Mobile

c. Stationary I Exterior

d. Private IV. Public

Choose the correct answer from the OPting
given below :

(A)
(B)
©
(D)
(E)

a-II, b-111, c-1, d-IV
a-1V, b-I, c-I1, d-III
a-IlIl, b-1, c-II, d-IV
a-I, b-11, c-III, d-IV

Question not attempted

Who developed C language?
(A)
(B)
©)
(D)
(B) " Question not attempted
C 1t (langy,
(A)
B)
©) = =gaq
(D)
(E)

Guido Van Rossum

Tim Berke]
Von Neumann

Dennis Ritchie

age) &1 ferrg ey e ?
TS 99 ey



T T T TR R I T ey

Which of the following diseases is prevented
by BCG vaccination?

(A)
(B)
©)
(D)
(E)  Question not attempted

Freafirfaa 3 ) R A 2 dwer DA,
a—a;ma%wé%?

(A) AH m
(B) a?mﬁn
(©) Ry B
(D) &=

(E) orgaia wed

k\:

Tuberculosis
Typhoid
Hepatitis B
Cholera

13+ Which of fhé following is used to check

synonyms 1{\,1}/[8 Word?
(A)
(B)
©)
(D)
(E) Question not attempted

g ug-a¢ ¥ maraErd Tl B WG HE b Y
e a?:n: E::fm Rrarwmar 3 ?

(A) 3 9%

(B) dITE: (am af)

(C) zﬁm

(D) & AT

(E) rgard 99

Auto check
Whatif
Thesa;l“;us
Spell checking

132 sl—r'afmaﬂ’a&?aﬁﬁfm

(A)
(B)
©
(D)
(E)

f{gmﬁ,mmmgl
I Feges @ ol fuel|
ﬁz&ﬁﬁ;gﬁ‘{ zofirg wa ¥
ﬁﬂgmal

G RIEG AR

<)) 44JRAC-1]

133

[y
(%)
oS

27

What are the advantages of mailmerge featurc
in MS-Word?

1. It saves lot of time and cffort.

2. Itis used for designing document.

3. It can maintain the details of all recipients.
4. It makes the documents more attractive.

€
Choosc the most ¢ appropna%é rmswc,r from th

options given below:
(A) 2and3only (B) (hand 3 only
(C) land4only (D) ﬂr} only

(E) Question not attcmptcd
qaaéﬁﬁmﬁ(ﬁrm)qﬁmiﬁww

{; m@fﬂgﬁéwaﬁtmﬁmﬁéf%l

2. T yaE € @ g ¥ ydrT Ear |

3. asm?rmam‘raﬁ%faa‘mmm*l

4., aauﬁ@as‘rai‘rfaxﬁmmﬁﬁm%l

ﬁﬁqmﬁmﬁ%mimﬁmm

TN BN

h

(A) a2 ot 3 (B)é@ﬁﬁlaﬁ‘(i&
(C) ¥amlalxa (D) Faal .
(E) oraid 99

A boy goes to school from his'house at a speed
of 8 km/h and comes back from school to his
house at a speed of 12 l\‘m/h What is his

* average speed?

(A) 10 km/h t";
(B) 9.6 km/h )
(€) 11 km/h R
(D) 10.6 km/h

(E) Question not attempted

TF qE O W G 8 6 A @ e | e ¥
3 Ao wge A Y 12 R, a e d amen
¥ e @ olvad o w2

(A) 10 ReAL, o

@) 9.6 Re . of -
(©) 11 frad . e

(D) 10,6 Res e,

(B)  srgafa we

[ PT.O.



/35 Identify the statements which are not true for

%w 44] RAC-1]

antlbnotlcs

Antibiotics are substances which kill or
inhibit the growth of disease causing

organisms,

2. They are effective in the treatment of
both bacterial and viral infections.

3 Erythromycin, penicillin and crocin are
few examples of antibiotics.

4.

Antibiotics like penicillin blocks the
processes involved in the synthesis of
cell wall in bacteria.

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

2 and 3 only

3 and 4 only

2 and 4 only

(D) 2,3and4 only

(E)  Question not attempted
Frfefad % & B wew shrea) % fro @l
T E 7

. viwes @ god & & O Sart amy
yicrsiifeal & A 3 € a1 o R T8
TH |

2. %ﬁmﬂmaﬂtﬁwaﬁﬁmgﬁw
% IOER F 7AE O ¥

3. uitgrmRe, afaiem o wife wheray
% B SAE & |

4. fHfales S v@R % whers, s
s faf & weerav & Wt o Ay
ST &7 |

A1 fam T et § @ el SUgER SO a T

i

(A) %aa 2 it 3

(B) @& 3 &l 4

(C) a2 et 4

(D) &9 2,3t 4
(E) a}ﬂﬁ‘ta 9+

28

Fill in the appropriate prepogiq:

) . tlone «
1}6 blanks of List I from List I, S
List I i

a. Heisblind oneeye, Ilstn

b. The boy fell his bike. Ii i

¢. Rohitis fond ___ childrep, ‘ ]ll of
d. The lion jumped ____the wej| lV

Choose the correct
given below :

(A) a-IL b1V, ¢, d-1

(B) - a-Il, b-1V, c-1, d-II

(C) a-IL b-IL, c-I, d-1V

(D) a-l, b-II, c-III, d-1V

(E) Question not attempted

answer from the 0ptn

137~ Which of the following is the smallg

fraction?

13 17 16 5
16°21°19° 6 &
%aﬁwﬁammﬁammv
" 130 17o 16c 5° g1
16°21°19° 6

17

21

16 5

o (D)

. 7
Question not attempted / raia ¥

5
(A) (B) 3

©
(E)

138 Which is the most advanced pritt®
technology?
(A)
(B)
(©€)
(D)
(E)

Thermal printing
Laserjet printing

Inkjet printing

3-D printing

Question not attempted



19

7

40

<)) 4JRAC-1]

«Palace On Wheels™ a luxury tourist trai
launched on

(A) 26 January 1980
(B) 26 January 1986
(C) 26 January 1979
(D) 26 January 1982
(E) Question not attempted

BT A |

(A) 26 sl 1980

(B) 26 sait 1986

(C) 26 1979

(D) 26 sl 1982

(E) organd ued

Match List I with List II :
List 1 List IT
a. Browser I. <button>
b. HTML interactive II. Store the website
on server
III. Software use to
Access website
IV. Combination of
text, video and

nwas

.

element
c. Multimedia

d. Web hosting

audio
@I%m&@llmﬁaﬁﬁﬁf@
g 1 = 1 '
a. "REal [. <dei>
b. TH.L.TA.TA. II. WWWEF’}[
sri=atean a R BT
c. Hw Al I, deamEse T 9gad &
AT FTFaaR &1 WA
d. &g BT 1V, fafaa, gea ofT e
QT T FareT

Choose the correct answer from the options
given below:
%mmﬁwﬁﬁﬁaﬁmmwaﬁﬁq:
(A) a-1V, b-Il, ¢-111, d-1

(B) a-lll, b-I, c-1V, d-1I

(C) a-IV, b-I, c-II, d-1II

(D) a-lll, b-I, c-II, d-1V

(E) Question not attempted / S 9T

2

29

141 Detergents can be used with hard water als0

because -

(A) Detergents are generally mu
than soap.

Detergents have chemicals whic
hard water.
dium salts of

ch softer

h react

(B)

vigorously with

(C) Detergents are SO
sulphonic acids or ammonium salts
with chloride or bromide ions which do
not precipitate with Ca and Mg jons in
hard water.

(D) Detergents are more soluble in water
than soaps.

(E) Question not attempted

TSt T YA B S & WA & far =

TR & D —

(A) szwﬁwﬁ sAtasm

T
(B) T & O a9 E S B o B
. ey A A e Y €

(C) TaHTSIoh, TR oTdl & aredH @aer at
ST 2 FATES = AES T A €
S B T F wuRerd Ca ofK Mg @A &
Y FGEY TE S |

(D) orgamis Ol & @igT & g+ SHaw
et ¥

(E) orgafid we

The layer of atmosphere which contains 90%
of Ozone is :

(A) Stratosphere  (B) Mesosphere
(C) Thermosphere (D) Troposphere
(E)

Question not attempted

90% 3T, argHusH @l A H Bl
(A) QHAIHSH (B) wwHsA

(C) wmEmETgHsw (D) &rvHsA

(B)  argafta wsA :

[ PT.O.



ch List I with List Il :

. 46 Mat \
1473’ Which tag is used to create a drop down ment JA0 l,,i‘st I List IT

zn\;\'clit: t‘ill]g html?m <UL> a. Charles Babbage :I EDUAC/EN[AC
(tC) 'I\\;‘L“l‘l:l; :l)) ’Inp/ul> b. John Von ' :;‘bmating

b A e sumann achin
(E)  Question not attempted T;Jl(jliqc Pascal I Analyﬁe
T3 TR, WA H deaEe N 31 ST c. Blaise Pas . Moo C.Engine
A (T o e ) ) 3 v e e i d. l-lcrmaln - Mechanigy
RIS & Hollerith Calculato,

(A)  <[Fn (B) <qua>
© <=0 (D) e
() srgafeq et

Danger signals are red in colour because -
(A)  Red lightis scattered maximum by fog
or smoke.

(B)  Red light is refracted maximum by fog
or smoke.

el Iﬁsmuﬁ;llmﬁaﬁaﬁw:

a. s 449 ¢y L é-é'@'l@.fé’{‘f.mré,m
b. W T =T 1. W wgh

c. @ a1 fasdtfes gom

d. s gk V. 9ife Seagee

Choose the correct answer from the optigy
given below:% A

(©) Red ligiff:is reflected maximum by fog A g T fy 5!-5"?“” ¥ | T o A WW
or smoke, (A) a-Il, b-‘;l;,fjt:—ll, d-1v
(D) Red light is scattered least by fog or | (B) a-lV, b';Hf c-1, d-III
smoke.:_'_j; (©)  a-lV, b4l c-II, d-I
(E) Questian not attempted (D) a-1IL, b-Tic-1V, d-II
T & Hood T T % Fﬁ ¢ i - (E)  Question not attempted / STd ¥4
(A) ¥ waTsr, o a1 4¢ & g o wedyoly B
B §1
147 1% e i -
(B) @t wagr, Y9 314U | 7 R orqady | @I FT?HI@%HHST
Tiey ' i ™ T
Fard L
(D) at samer, o a1 ¢ ¥ wad a gy R o o T e
drn g o o1
, 7 N, |
(E)  orafea g C. T T o g 1L, wyara® T
TE |
45 The difference of Squares of two consecujy d. s oty :
, > .oy : Hga T4
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